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QUESTION 1
Which statement is true about designing custom APIs in Oracle Mobile Hub?
A. Designing custom APIs entails defining the Node.js implementation in pseudocode.

B. You may build the REST endpoints of a custom API through a RAML file or via the Endpoints tab on the Custom API
page, but you should not mix these approaches.

C. Custom endpoints built in RAML cannot be edited outside of the Oracle Mobile Hub environment
D. Custom APIs can be shared across mobile backends through the API catalog.

Correct Answer: B

QUESTION 2

You have used Oracle Developer Cloud to deploy the Docker image by pulling it from DockerHub on Container Engine
for Kubernetes cluster. Which two commands can be used to get the external IP address?

A. $ kubectl get nodes

B. $ kubectl get cluster-info
C. $ kubectl get services
D. $ kubectl get pods
Correct Answer: A

https://blogs.oracle.com/developers/deploy-containers-on-oracle-container-engine-for-kubernetes- using-developer-
cloud

QUESTION 3

When you provision WebLogic Server for OCI that includes JRF components, you must provide details of an existing
database. Which criteria is not true in this scenario?

A. If you intend to use Oracle Cloud Infrastructure Database (DB System) that is on different VCN than the WebLogic
Server VCN, then local VCN peering has to be configured.

B. If you intend to use Oracle Cloud Infrastructure Database (DB System) then database must be provisioned in the
same compartment where WebLogic Server domain will be provisioned.

C. If you intend to use an Oracle Autonomous Transaction Processing database then you cannot create WebLogic
Server 11g domain.

D. Database options are Oracle Autonomous Transaction Processing and Oracle Cloud Infrastructure Database (bare
metal, virtual machine (VM), and Exadata DB systems).

Correct Answer: A
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QUESTION 4

You have defined a user-isolated collection in Oracle Mobile Hub. Two users, Jean and Joe, can access it. Jean has
Read-write access and Joe has Read-write (All Users) access. Jean has uploaded an image of an oven to the collection
and Joe has uploaded an image of a dryer to the collection. What image can Jean see when accessing the collection?
A. none

B. dryer

C. oven

D. default

Correct Answer: B

QUESTION 5

Before you create a domain with Oracle WebLogic Server for OC If you must provide these passwords in the encrypted
format and not as plain text: Administrator password for the new domain Administrator password for an existing
database, if you are creating a domain that includes the Java Required Files (JRF) components Client secret for an
existing confidential application, if you are creating a domain that uses Oracle Identity Cloud Service for authentication
Which OCI service must you use to encrypt sensitive data?

A. Oracle Cloud Infrastructure Vault

B. Oracle Cloud Infrastructure Resource Manager

C. Oracle Cloud Infrastructure Identity and Access Management

D. Oracle Identity Cloud Service

Correct Answer: A

QUESTION 6

You are accessing the service catalog to create service connections. You notice that there are no services listed in the
catalog. Which two points do you need to verify to mitigate this issue?

A. Verify from the Visual Builder Studio home page that the service catalog connection is live.

B. Verify with your Oracle Representative that access to the service catalog is a part of your enterprise\\'s Visual Builder
Studio contract.

C. Determine if the backend service has been properly defined.

D. Check that you have the proper credentials allowing access to the service catalog.
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E. Check that the network connection between the Visual Builder Studio and the service catalog is functional.
Correct Answer: CD

https://docs.oracle.com/en/cloud/paas/integration-cloud/visual-developer/create-serviceconnection.html#GUID-
B95FF6FE-856B-4D0C-AB27-745736283B01

QUESTION 7

The SOAP protocol relies on XML messages. However, Oracle Mobile Hub APIs represent data as JSON
internally. The Oracle Mobile Hub SOAP connector APIs use a translator to convert data back and forth
between JSON and XML.

Which two statements are true about the translator?

A. It provides a perfect mapping between JSON and XML.

B. It offers configurable mappings through XSLT.

C. It is mandatory because the SOAP connector APIs cannot bypass it.

D. It offers a comprehensive mapping between JSON and XML, but some limitations exist.

E. It is recommended, but it is possible to bypass it if needed.

Correct Answer: CE

QUESTION 8

Which option represents three views of a Scrum board?

A. Active Sprints, Reports, and Copy Boards

B. Backlog, Active Sprints, and Reports

C. Custom Boards, Active Issues, and Reports

D. Backlog, Active Issues, and Reports

Correct Answer: B
https://docs.oracle.com/en/cloud/paas/developer-cloud/csdcs/use-agile-boards-update-issues.html Use
Scrum Boards

Using a Scrum board, you manage and update issues using sprints. A Scrum board has three views:
Backlog, Active Sprints, and Reports. The Backlog view lists all active and inactive sprints of the board,

and a backlog list of issues. The Active Sprints view enables you to manage the progress of issues of an
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active sprint. The Reports view displays various issue reports.

QUESTION 9

You have implemented the following router for a custom API:

Which five URL patterns match this router\\'s path?

A. {baseURL} /mobile/custom/ab

B. {baseURL}/mobile/custorn/cd

C. {baseURL}/mobile/custom/abed/ rid

D. {baseURL}/mobile/custom/abbbbbbb

E. {baseURL}/mobile/custom/abXcd

F. {baseURL}/mobile/custom/abxed

G. {baseURL}/mobile/custom/abed H. {baseURL}/mobile/custom/abXxcd
I. {baseURL}/mobile/custom/ablcd

Correct Answer: ABCEF

QUESTION 10

You have deployed a Visual Builder Studio application and shared its URL with the enterprise. The enterprise gives
feedback that the deployment is incorrect and does not meet their requirement specifications regarding the URL
definition. Even though the application works as expected, they are insisting that you make corrections to meet their
specified requirements. What capabilities in Visual Builder Studio deployment activities would you use to meet this
customer requirement?

A. Undeploy the incorrect version of the application and then redeploy with a custom URL for the deployed application.

B. Deploy the applications to display a version number or the word "ACTIVE" in the URL of the web application.

C. Set up the Visual Builder deployment to install the application on an on-premises server in the enterprise\\'s data
center.

D. Deploy a new version of the application with corrections and have both versions available at the same time.

Correct Answer: C
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